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6(a)  We prove this in two steps: A \cup and A \cup

A \cupx  A \cup x  A  or  x x  A  since x is false

          Hence  A \cup

A  \cupx  A  => x  A  or  x x  A  \cup

HenceA  \cup

b)  We prove this in two steps: A \capU andA \capU.

(1) A \cap U xA \cap U => xandxU => xA.

Hence A\cap U 

A \capU : x xand TruexandxU  =>

            xA \cap U. Hence A \cap U. 
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16 (c)  x xand xx


HenceA .
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be the set of odd integers. 
Basis Clause: 
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Inductive Clause: If
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 then 
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. 
Extremal Clause: Nothing is in [image: image19.png]


unless it is obtained from the Basis and Inductive Clauses. 
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be the set of positive integer powers of [image: image21.png]


. 
Basis Clause: 
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. 
Inductive Clause: If 
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then
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Extremal Clause: Nothing is in [image: image25.png]


unless it is obtained from the Basis and Inductive Clauses. 
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be the set of polynomials with integer coefficients. 
Basis Clause:

 [image: image27.png]


and 
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. 
Inductive Clause: If 

[image: image29.png]



and 

[image: image30.png]



then 
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. 
Extremal Clause: Nothing is in [image: image34.png]


unless it is obtained from the Basis and Inductive Clauses.

